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19534 LIAT
& fi K ouT IN GROSS NET
1BEK B 44 44 88 63.5
2|5+ # 43 43 86 63.8
| F:k 42 43 85 . 65.6
AlEO %2 48 41 89 . 67.0
% blEx FIE 43 40 83 . 68.2
LIS 41 38 79 99 69.1
w|xE kig 40 42 82 128 69.2
8|FIL EE 42 39 81 115 69.5
9|&xT hUL\F 44 44 88 18.3 69.7
10/iEF & 45 46 91| 213 69.7
1AL &= 46 47 93  23.1 69.9
12|k EB 44 41 85 15.0 70.0
13|k =ik 48 40 88 18.0 70.0
14|=W #F 45 46 91 208 70.2
Y 16|#A REfT 44 45 89/ 18.6 70.4
16|=1& £ 39 40 79 8.0 71.0
17|k% &5E 43 40 83 120 71.0
18|ZM &% 41 40 81 9.7 71.3
19|88 =56 45 44 89 17.7 71.3
Y 20|&) —EBR 44 40 84 123 71.7
21|t B &tk 46 43 89 17.3 71.7
22|#FIL Ex 42 41 83 109 72.1
23|ILT #T 50 46 96 234 72.6
24|=E =B 44 46 90 16.7 73.3
25| BIRF  wg 46 47 93 197 73.3
26|%5H TR 49 43 92 186 73.4
27|EA % 44 44 88 14.4 73.6
28| A RE A 39 44 83 93 73.7
29|k == 46 43 89 15.2 73.8
w30 |#E ¥EX 44 42 86 12.1 73.9
3|aE Eig 42 43 85 108 74.2
32|m M@ FER 46 57 103] 28.4 74.6
33|=H Bk 43 48 91 15.9 75.1
Ml=X IEF 53 45 98 223 75.7
% 35| 3oz 46 50 %6 17.9 78.1
36|;kH =AB 44 45 89 10.8 78.2
3| KR 1S 44 50 94 155 78.5
38|EFH &EE 53 47 1000 21.3 78.7
39|EH = 47 50 97  16.1 80.9
Y 40|itE —ER 49 50 99 18.1 80.9
H|E2E AB 46 47 93 120 81.0
12|hFt &iE 60 55 115/ 33.7 81.3
A3l MO EE= 54 56 110, 26.7 83.3
NRIEH =&
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IE £ K % ouT IN GROSS| HDCP NET
%1 EL = 43 39 82 220 60.0
2 FH B 37 35 72 713 64.7
Y 3k EF 51 49 1000 343 65.7
4R AF 42 39 81 146 66.4
hbEhE = 39 39 78 10.8 67.2
6 XKE # 43 44 87/ 19.4 67.6
w1 ERE A 45 45 90 20.9 69.1
8 8F = 41 43 84 14.1 69.9
98Il REA 41 42 83 12.8 70.2
10 AKHE 40 42 82 11.2 70.8
11/#@ m1B:a 45 43 88 17.1 70.9
12 0% #8 40 40 800 9.0 71.0
13 EA #B% 39 39 78 6.0 72.0
14\ &— 40 38 78 5.7 72.3
w15 BE B— 41 38 79 6.2 72.8
16/tA B3 45 40 85 12.2 72.8
171% 2EF 48 41 89 16.1 72.9
18 | BRis A= 42 49 91 18.1 72.9
1915 skt 41 41 82/ 85 73.5
%20 kLU R&E 44 41 85| 11.4 73.6
21 =@ EE 45 46 91  17.1 73.9
22 315t ®A 41 40 81 6.0 75.0
23 rE BEE (M) 46 47 93 18.0 75.0
24 Il E—ER 49 47 96 208 75.2
%25 @A =F 44 49 93] 17.6 75.4
26 KL Al 40 40 80 45 75.5
27 AXH 46 48 94 18.0 76.0
28 T —* 46 41 87 10.2 76.8
29 Xi & 37 41 78 1.1 76.9
*30 7 =® 41 39 80 28 77.2
31 1EE &k 47 50 97| 19.6 77.4
32 kA FH= 56 47 103] 255 77.5
33 R L 42 40 82 39 78.1
34 EE Mk 52 53 105 26.4 78.6
Y3b BB £X 50 54 104 249 79.1
36 st BE 50 47 97| 175 79.5
3] Wk BE 46 52 08 18.4 79.6
B AR B— 51 54 105 24.7 80.3
39 X& BAt 50 52 102 216 80.4
w40 E+ {E—ER 47 49 96| 14.8 81.2
E#E w— 51 51 1021  20.2 81.8
42 thil &= 63 52 115/ 33.2 81.8
138 BA 50 44 94 120 82.0
14 5 [ 47 47 94 120 82.0
Y45 #E B= 48 48 96| 135 82.5
6= #& 53 54 107 235 83.5
il E— 53 54 107 228 84.2
418 %23 Tk 49 53 102 14.2 87.8
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